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OBMHI(S2ET, S2EA, HIA2S)
9,000 x17&H *43|x 122 7,344
O=ZAIE 222 88 u=st|
360,000 %15 5,400
OUSTER(F4H)
25,0002 #4024+ 128 1,200
OMRIDI A2F FU(E=F)
200,000& *4JH 2-%62] 4,800




SN BT
M HELBLIAY
o9l ALT2YRR(METALSHEIH) (choy: @2
SA - B S (3H) - MISAY - B2 ofl aro G o HDE2
OAERI1D| Z=2l8l(H2Z)
200,000 x40 2~ 800
OSEH WA =48
600,000 2004 &~ 12,000
O=x=ZZHA =42 54,576
—&= 326,400 *4 4 2123 15,668
— 22,487
24 67, 1002 * 144 2+ 123] 11,273
=g 400,500 x7 | A +4 3] 11,214
-84 63,5002 * 150 A #43| 3,810
—35FE HAAMN(AEE =H0I2IK2])
62,5002 x4 JH 2% 123] 3,000
— QB I (A A "2 U=2)
21,6002 6 A% 123] 1,556
—SF2ALKH ()
105,2003 » 23| *123] 2,525
—NMAHLE X 2HEZBAL =2
200,000 * 1 A %23| 400
— IS (A2 A2 82)
427 460 x3 || A +4 3| 5,130
OMBIBAT ABE TN 242
750,000 x2 0 A+ 123= 18,000
ONLAELE 20|22
128@x1,000= %365 46,720
ONT4T 2018448
F3&Ix1,000= %365 19,345
O X Hel =2 (At Alet 212)
100, 0002 x5E *3 I A +23| 3,000
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